Listening comprehension
I. Watch the whole report once and underline the most appropriate title 

Aphasic patients

Language disorders

Wernicke’s aphasia: a case report

Broca’s aphasia: a case report

A new therapy for aphasic patients

II. Watch the first part of the report and decide if these statements are true or false. Correct any false statements
a. Our language abilities have allowed us to take a great leap forward from the Stone Age to our modern civilisation T / F

b. Chimpanzees do not speak because they do not possess Broca’s and Wernicke’s areas 

T / F

c. It was thought that Broca’s area was involved in word selection T / F

III. 
Dr Talley’s case history: Watch the second part of the report and fill in the table below
	Dr Talley’s job
	

	What happened to him? When?
	

	Where was he when he was taken ill?
	

	Where did he go? How?
	

	What about the symptoms?
	

	How is he one year later?
	

	Anatomical problem
	


IV. 
Watch the fourth part and find out as much information as you can concerning Dr Talley’s behaviour in 
1. A conversational setting

2. A testing situation
V. 
Watch the third and the fifth parts and decide if these statements are true or false.
a. Wernicke’s area is responsible for all comprehension and sentence constructions T / F

b. New techniques allow doctors to measure language disorders T / F
c. Dr Dronkars’ patients all present damage in Broca’s and Wernicke’s areas T / F

d. Many different brain areas are involved in language processing T / F
VI.
Listen to the sixth part of the report and fill in the gaps 

Unfortunately, we rarely see complete, total …………………. in our aphasic patients and the fact is that in most of them, a fairly significant amount of brain ……………………………. by their ………………..and that it is difficult for other brain areas that have for such a long period of time been doing something else to suddenly take on this new function. And what we think happens is that the ……………..brain areas try to take on this ………………………………. but they do it in their own way, but unfortunately, they ‘re not as good at it as those ……………………………………………..because they haven’t been doing that all those years.
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